תרגולון – תרגילי חשבון לכיתה ב
>  <  =
רִשְמוּ < > = בְּכָל אֶחָד מְהַתָרְגִילִים הַבָּאִים (תחום ה- 100):

	25  ____ 15


	52  ____ 92


	67 + 12  ____ 44 + 8


	0 + 55  ____ 61 - 99


	100 - 45  ____ 55


	 + 5224  ____ 44 - 100


	31 – 75    ____ 50 + 32


	 + 510  ____ 0 - 70


	32 – 85    ____ 29 + 36


	


רִשְמוּ < > = בְּכָל אֶחָד מְהַתָרְגִילִים הַבָּאִים (תחום ה- 100):

	52  ____ 90 + 2


	8 + 35  ____ 12 + 22


	17 + 18  ____ 16 + 19


	100 - 33  ____ 14 + 44


	41 + 18  ____ 15 + 26


	 + 1529  ____ 4 - 49


	32 – 87    ____ 11 + 35


	 + 722  ____ 17 - 89


	8 – 57    ____ 9 + 40


	 + 655  ____ 5 - 89


	34 – 99    ____ 23 + 36
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